


MATHE MATICS By Pradeep Sir

Q. 1) Vertex angles of two isoscles triangles

., are equal. If ratio of their height is 3: 4, find

the ratio of their perimeter-

& yufgarg Pyst & <fd s wa= 81 afe
ISPt SHATSTl BT FUTd 3 42 @ 37 uRmar

ST UTd ST -
(A) 6:8

(B) 4:3

(C) 9: 16

CED
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(@-k)> Aty b Qe
E5 = Leg-Qa

ok = Qo

Y

Q.2)Ifa-b=5&a? +b? + b? = 45, then value
of ab is?

gfd a-b =53 a2 + b? = 45 §, @ ab BT HH
T8I 2

(A) 20

(C) 25

(D) 15
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Q. 3)f JA-p2)(1-q? =?, then what is the

value of ./2p?+ 2q% + 2pq + /2p% + 2q% — 2pq .

NJEY
J("”L) -5 uféJ(l—pZ)u—q?-)=ﬁ%.a’w2p2+2q2+2pq+
-p> o 3 W2p? + 247 —2pqaﬂm=tam%? o O
v =, G
g (A)Z |
L C®vz D f3r + Jxer

(©1 [ p+J®
@ (D) None of these ["\ IJ\D

Xrrg
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100 ke Q. 4) A man completes a certain journey by
car. If he travels 30% of dis- tance and 60% of
distance at 20 km/hr and 40 km/hr

P 2°KM | Cokm | ok respectively and remaining distance at 10
L —  km/hr, find average speed to cover total

S Rokmlh UYoka|k lokm]), ~ distance?
, l TS ASH! R gRT U fAfda amr & 9wy

e . . Hdl 8| afe a§ g BT 30% TUT 60% HHI: 20
T Lol g faeit/eeT quT 40 Tt ser @t 919 A g FaT 8

aYT A9 g3t 10 fFft/Eer #t a1 | 99 FaT B,
g N ?ﬁgmﬁmmﬁﬁwﬁaﬁmmm

> A5k ?
f "’})L ﬁ@ 25 km/hr ) (B) 28 km/hr
(C) 30 km/hr EERGUL
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({)'c,-} 3) (%-9) Q. 5) A boat takes half time in moving a
T a7 certain distance downstream than upstream.

(li—d)x}/: Cx'?j)xf:?}/

VAR, G

The ratio of the speed of the boat in still water

and that of the stream is-

TS 11 B $O G 9P URT & Ufaga & B

D o GO H URT & Pd 91 H ATUT FHY Tl
Xy x-y | RR 5a & AieT Bt 3R IH YRT Bt 7fd BT
UN < |SruTd T BN ?

P w2 (B3r

T o2 (D) 4:3
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Q. 6) If certain sum becomes 1.44 times of

itself in 2 years at compound interest rate per

annum, then rate percent per annum? afe aﬁi

¢RI A1 YR UR Ihgie AT U 2 qul
# AT 1.44 T B WG 8, 9 39 S P
aiffe o fFa-it 8 2

(A) 25%

(B) 22%

(C) 21%

T
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Q. 7) A man bought a car and paid ¥ 12000 as
down payment. He told the seller that he
would pay ¥ 13050 after 1 year and ¥ 22680

after two years at 12%% compound interest per
annum. What is the value of car 2 on cash

t?
g%ﬁﬁzooo%aﬁnwwwm
E’ﬂaﬁaﬁzﬁﬂmﬂqﬁ 122% e awgfs

gﬁwaﬁmnsosoeﬁu’taﬁm
? 22680 YA &7 a1g1 HIaT gl | PR BI
TP¢ Yo FTd B ?

(A) 51000
(B) 42575
415

(D) 45345
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Q. 8) A sum becomes ¥ 1352 in 2 years at 4%

compound interest rate. Find the sum?

TP YRR 4% TS Tohgies 0TS B R W, 2
gul # 2 1352 81 STl 81 Y=RIR 3 i 2
@ T1250

(B) ¥ 1200

(C) ¥ 1300

(D) ¥ 1260
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Q. 10) Three persons start walking from A to
B. The ratio of their speed is 4 :3: 5. find the

ratio of their time to reach at the point B?

o+ aafed R A 9 ®IE B & e iea 9ad g1
S®! U1 4: 3:5 F AUId H 81 9P GRIB W
Uga+ ¥ e 9 aret 99y &7 3uTd gHT1-

(A) 10:15:13

(B) 2:3:4

) 15:20:12

(D) 16:18:15
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Degree of Cost incurred in different
Expenditure (Total 4,50,000)

- @d H antg &t W @l 2
4,50,000)
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Q. 11) In the given pie-chart, what is the total
expenditure (in percent) on labour charges?
fu 7T urg =1 (pie-chart) H, 47 Yed W T
arg (wfa=ra #) fea- 8 2

(A) 25%
(B) 20%
(C) 18%

PCIL
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Q. 12) In the given pie-chart, what is the ratio
of the total expenditure on steel, cement and
bricks to the total expenditure on labour and
miscel laneous expenses?

f%q LY UTg a‘l’cfa(ﬁie-chart) H '&ﬁﬁ, e iR

3 W o o9 B goT °§ 99 IR fAfdy @«
W $d 04 BT UTd T 82
(A) 3:7 (B) 3:

@45 OB
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Q. 13) A trader sells his goods to a customer at
a profit of x%({calculate on SP besides it he
cheat by 10% while he buying and gives
825gm instead of 975gm his overall profit is
62.5%. Find the value of x?

Qﬂi "m Pl ATeP Pl x% dAIH
m% t{mwmmm
THY 98 10% < Hdl & ayl

airammsam mazsm%m%uuﬁ:
SUPT R Wie A ATYH 62.5% ©, a x BT A

garsy| -

(A) 25 CR< = ..&31 N

B) 2
(%15 85 o/ N

(135) (D) None WKM




